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OlgETol HBA 270 ChE MZto| YoiM HEOlLf AYE HEE 3 JHssicte H
MH[Z0| 43.0%2H, MELHE0 UM Ofdzte| CHzto 2ot MEio|2t= QA2 HF0]
66.7%, CtS6tA HAESICH= QA2 0| 15.2%E LIEFLYRUCE
T ot (%) 01 (%) X1 (%)
HESHD AKX HEGHA RE A 23 2(13.3) 1(1.0) 3(2.6)
ZE0ILE AHZHS HHZ otH Jts 3(20.0) 46(46.5) 49(43.0)
ZE0ILE AFZE D 2318101 Jts 0 1(1.0) 1(0.9)
CtSotH HE 0 15(15.2) 15(13.2)
Old2tel THatol 2fgt &= 10(66.7) 35(35.4) 45(39.5)
fSE 0 1(1.0) 1(0.9)
BIC/E oI& 15/15 99/99 114/114(100.0)
8) 93|85 dFH moltd Al CHNUH
= g4 (%) & (%) B E (%)
2ot 0 LSS0l EARXHOIA OH DI 1(6.7) 3(3.0) 4(3.5)
O X2l EE85tD oA ¢HE 5(33.3) 41(41.4) 46(40.4)
7 L= I 2= 3(20.0) 19(19.2) 22(19.3)
Sl =X &3 0 4(4.0) 4(3.5)
W AEMHH 2= 2(13.3) 2(2.0) 4(3.5)

25




~|=

Q| o

ol S

Nz

I | <

o —

2 o

3|8

2 »

S| o

™

~| w

©o | T

[ )

3| —
oF
oJ
K0

BRI

2| U

_ | o

S

[u)

=

I+

3

)

o

KU

— S
R — — S
H| 3D || ||| =
ISle|dls|e|e|e| T
Z|T|o|s|—|e|=|—]| =

(V) © ~
pd =
SEIEIERNE 3
nlZ|=z|g|°|€|c|°| g
= By R B 3|~ =
S R S Y R S
AN EIR
30 m|lo| | F A

i

o3

w| |« od
oo |00 | O | o Al ol
_ ¥ a|a ) #0
memo%m:% H
zﬁm___%%_ o)
T |= .
S| H =
| lss|2 2|

3 uOmD|}|
=lol || =
of ot |ou| 20| W[
3 i
2o fom | on | O | |
=lot|s|on|= |0
®la|s|=|w|s o

oln
o3

<+
ol

:
ol

ofl
od

—_

Jo

-

Ka

ok
7

ot= FA|

Hr

—~ S
X |~ —~| =]~ o
— | Rn|lo|lo|lo|~]| ©
_1_1_.3...31
Ulo|lllN|la|S |2 =
||zl |e| T
= || Z | ™ © —
_.,Tm_413mom38w
K Yo}
zl=l=l2lalalo] g
Sl lalolst]| 2] 2
niele(d|zc|¥lIe|
WM8%4%8H
SRR 0
nlelelg|y|d|°|a
N|lw|d|F|F|F —
1o
< _
= i
a1 | & ol
goon. O™
- K| |
= A uOﬁo__Lch_oﬁv
- R U
i (0w | W 5
S O I =
i R G D
70 | A0 | 20 __ramlm
,ﬂWol.uEn_lJ
B5||E =
ol frlal|=|T
F|[X[X(8[X |~

olo
o3

<+
ol

>
oB

ME

Hr

Jd

=l

11)

~ S
I P N — =
<N < ~| ==
His|ag|d2|S|ele|
I N RO B RN I O I
H.M 2g 2|2 |v|®|N %
RJ N
S|Slg|a|lS|lalala] @
Clolo|JF|<F|[R]|R|2 2
n|IZ|d|le|z(Y|IdIel
T|o|o|o|lw|ao|e|—| 2
SRS -
2le|e |38 || e
BB EREE
N|(w|lo|~|o|N —| -
ulo
_ L W
w | U]~ = ol
_ = | uo . 5 %
I ||z [n0 = n
=y ur < =
30 o < J
s - | Bl o
OF | o | | . | ™[R0
B & | & | N0 | ur
| ol ur Bl =
O g KF | &
]| ME BU [ dey | = | QD
(= |8 | =200
WO | & | <k | dr | dor | ~ | OF

26



olo

E4SERT} YoIN 2

=
T

%
25.4
65.8

7.0

1.8
100.0

29
75

114

I O] 9|At

—

.I

PNPS
(=]
LH

Al dE3

OtLICH

.

ol
ok

oD

27




